21A Answers
1.  
a.  scatter diagram: data in two variables displayed on a Cartesian coordinate system

b. correlation: the relationship or association between two variables

c. positive correlation: a relationship in which an increase in the independent  variable generally means an increase in the dependent variable

d. negative correlation: a relationship in which an increase in the independent  variable generally means a decrease in the dependent variable


e. outlier: an isolated point that does not follow the trend in the main body of data

2.  
a. no correlation

b. weak positive linear correlation


c. moderate negative non-linear correlation, one outlier


d. moderate positive linear correlation


e. strong negative linear correlation, one outlier


d. moderate positive non-linear correlation
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i.  C
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c. Strong positive correlation


d. Yes
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4.
a.  


b.  Strong positive…increase


c.  No

21B Answers

1.
a. B

b. A

c. D

d. C

e. E
2.  
a.  1

b. -1

c. 0
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3.
a.  





b.  -0.892
c.  Strong negative correlation
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4.  
a.





b.  -0.987
c.  Strong negative correlation
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5.
a.





b. 0.776
c.  Moderate positive correlation
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6.  
a.





b. 0.520
c. Moderate positive correlation







d. yes

e. 0.943

21C Answers will vary.
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1.  
a. 
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b. 84 minutes

c.  Interpolation—the estimate is reliable.
2.  
a. 
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b.  
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c. Extrapolation—not reliable.
5.
a.





b. Strong negative linear correlation
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c.  
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d.  
i. 21.4 cm

ii. 172 hours








e.  i. is more reliable
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1. 
a. 
I. negative, weak

b.
I. positive, strong



II.  non-linear



II.  Linear

3b.
There is a strong negative linear correlation.
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3.  
a.






b. Strong positive linear correlation
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c. (60, 64.6)
d – f: Answers will vary

4.  
a.  Number of waterings, n

b. f = 34n + 19

c. graph

d. 
i. 2.5 times per week: 104 flowers; 10 times per week: 359 flowers



ii. The first estimate is more reliable.
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